2022 Op	timist Asian & Oc Team USA - Prelii		onsnip			
	Coach:					
	Team Lead					
	Parent Lead					
	Yeosu, k	Korea				
Arrive:	4/24/2022		Regatta Dates:	4/29/2022		
Depart:	5/6/2022			5/6/2022		
Coaches Team Leader	1					
Country Rep / Support Parent	1					
Competitors	-	(min 2 of opposite	e gender per NOR)			
•						
EXPENSES	Accomodations &	Meals for regatta	a dates included with	Entry Fee		
Da wie Awa 41 au	Competitors	Entry Foo	# - £ D		T 110D	
Registration	Competitors/	Entry Fee	# of Days		Team USD	Soo Note 1
Sailors Coaches	7	\$750 \$750			. ,	See Note 1 See Note 1
Team Leader	1	\$750 \$750				See Note 1
Support Parent	1	\$750 \$750			\$750.00	
Hotel Damage Deposit (credit card at check-in)	5	\$100			\$500.00	
Charters						
Optis	7	\$500			\$3,500.00	
Opti Damage Deposit (in cash)	7	\$200			\$1,400.00	
Coach Boat Damage Banasit (in each)	1	\$1,200			\$1,200.00	
Coach Boat Damage Deposit (in cash)	I I	\$800			\$800.00	
Early Arrival						
Opti Charters	7	\$40	4		\$1,120.00	
Coach Boats	1	\$300	4		\$1,200.00	
Accomodations	10	\$40	5		\$2,000.00	
Meals	10	\$25	5		\$1,250.00	
Coach and Team Leader Expenses						
Coach Fees	1	\$500	12		\$6.000.00	Includes 2 travel days at 50% of coaching fee
Coach Airfare & Baggage Fees	1	\$1,500			\$1,500.00	
Team Leader Coaching Contribution	7	\$500	1			Cost of TL Coaching spread across all IODA events
Team Leader Additional Coaching Fees	1	\$500	1		\$500.00	
Team Leader Airfare	1	\$1,500			\$1,500.00	
Allowance for Incidentals	2	\$30	12		\$720.00	
Food/Expenses	9	\$25	12		\$2,700.00	
Background Checks	2	150			\$300.00	
Miscelleaneous						
Coach Boat Fuel	1	\$25	12		\$300.00	
Transportation	10	\$45			\$450	
Insurance	10	\$12			\$120	
Wire Fees	1	\$140			\$140	
Currency Exchange	1	\$100			\$100	
Uniforms	10	\$150			\$1,500	
International Travel Fund	7	\$100			\$700 \$3.500	
Extra/Contingency Snacks/Water	7 9	\$500 \$100			\$3,500 \$900	
Subtotal	9	φ100			\$44,900.00	
Clubspot Processing Fees	7	10			\$70	
Clubspot Waiver Fees	7	1			\$7	
Credit Card Fees	3.50%				\$1,571.50	
Total					\$46,548.50	
					40.212.	
Per Sailor Cost					\$6,649.79	
			Estimated Registra	ation Fee	\$6,650	
	All budgets are estin				ψ0,000	

			Palamos, S	amos Optimist Troph	•	
		Tax	Palamos, S am USA - Prelimi	•		
		Tea	Coaches:			
			Coacnes:	ГВИ		
A	0/40/0000			D 44 - D - 4	0/40/00	
Arrive:	2/13/2022			Regatta Dates:	2/16/22	
Depart:	2/21/2022				2/20/22	
Coaches	2					
Competitors		(min 4 of oppo	osite gender)			
Support Parent (volunteer)	1					
Euro	1.21					
EXPENSES	Budget does NO	T Include Hou	sing or Meals			
	Competitors/	_			_	
Registration	Coach	Euro Amt	USD Amt	# of Days	Team USD	
Sailors Entry Fee	15	150			\$2,722.50	
Coaches	2	25			\$60.50	
Support Parent	1	25	\$30		\$30.25	
Charters						
15 Optis and 2 Coach Boats	15				\$14,250.00	
Opti Damage Deposits	15	100	\$121		\$1,815.00	
Coach Boat Damage Deposit	2	100			\$242.00	
Ů '						
Coach Expenses						
Fees	2		\$500		8 \$8,000.00	(includes 2 travel days at 50% fees)
Airfare	2		\$1,500		\$3,000.00	
Allowance for Incidentals	2		30		8 \$480.00	
Accomodation (rooms)	2	150			8 \$2,904.00	
Rental Car	1	500			\$605.00	
Background Check	2	300	150		\$300.00	
Daonground Officer	2		150		φ300.00	
Miscelleaneous						
Coach Boat Fuel	2		\$25		8 \$400.00	
Wire Fees	1		\$140		\$140.00	
	2	20				
Coach Boat Flag Deposits (in cash)		20			\$48.40	
Currency Exchange	1		\$100		\$100.00	
Uniforms	18		\$150		\$2,700.00	
nternational Travel Fund	15		\$100		\$1,500.00	
Extra/Contingency	15		\$500		\$7,500.00	
Snacks/Water	17		\$100		\$1,700.00	
Subtotal					\$48,497.65	
Clubspot Fees	15		\$10		\$150.00	
Clubspot Waivers	15		1		\$15.00	
Credit Card Processing Fee	3.50%				\$1,697.42	
Total					\$50,360.07	
Per Sailor					\$3,357.34	
			Estimated Re	egistration Fee	\$3,400	
				_	. ,	

		2022 L	ake Garda Meeti	ng		
			a del Garda, Italy	-		
			A Preliminary Bu			
			Coaches: TBD			
Arrive:	4/9/2022			Regatta Dates:	4/14/22	
Depart:	4/18/2022				4/17/22	
Coaches	2					
Competitors		(7 Cadettis +	7 Juniors, min	2 opposite gende	in each group	
Support Parent	1	(. Gaasaas			cao g. cap	,
Euro	1.21					
	1.21					
EXPENSES	Budget does NOT	Include Housir	ng or Meals			
EXI LIVOLO	Budget doco NO1	Thorage Frederi	ig or ivicals			
	Competitors/					
Registration	Coach	Euro Amt	USD Amt	# of Days	Team USD	
Sailors Entry Fee	14	150			\$2,541.00	
Coaches	2	25			\$60.50	
Team Leader	1	25			\$30.25	
	1	20	ψ30		\$00.20	
Charters						
20 Optis and 2 Coach Boats	14				\$14,000.00	
Opti Damage Deposits	14	100	\$121		\$1,694.00	
Coach Boat Damage Deposit	2	100	\$121		\$242.00	
Coach Boat Damage Deposit		100	ΨΙΖΙ		\$242.00	
Coach Expenses						
Fees	2		\$500	9	00 000 02	(two travel days at 50% fees)
Airfare	2		\$1,500		\$3,000.00	(two traver days at 50 % lees)
Allowance for Incidentals	2		30			
	2	150				
Accomodation (rooms) Rental Car	1	500	\$605		\$5,267.00	
		500				
Background Check	2		150		\$300.00	
Minallanaana						
Miscelleaneous			*	_	¢450.00	
Coach Boat Fuel	2		\$25	9	·	
Wire Fees	1		\$140		\$140.00	
Coach Boat Flag Deposits (in cash)	2	20	\$24		\$48.40	
Currency Exchange	1	20	\$100		\$100.00	
Uniforms	17		\$100 \$150		\$2,550.00	
International Travel Fund	17		\$100		\$2,550.00	
	14		\$100		\$7,000.00	
Extra/Contingency	16				\$1,600.00	
Snacks/Water Subtotal	10		\$100		\$48,568.15	
	4.4		640			
Clubspot Fees	14		\$10		\$140.00	
Clubspot Waivers	14		1		\$14.00	
Credit Card Processing Fee	3.50%				\$1,699.89	
Total					\$50,422.04	
Per Sailor					\$3,601.57	
			Estimated Re	gistration Fee	\$3,650	

		2022 N	lagic Marine Eas	ter Regatta		
		Braa	ssemermeer, Ne	therlands		
		Team	USA - Prelimina	ry Budget		
			Coaches: TB	D		
Arrive:	4/10/2022			Regatta Dates:	4/15/22	
Depart:	4/19/2022				4/18/22	
Coaches	2					
Competitors		(min 4 of oppo	site gender)			
Support Parent (volunteer)	1	(garran,			
Euro	1.21					
	1.21					
EXPENSES	Budget does NO	Γ Include Hous	ing or Meals			
	Competitors/					
Registration	Coach	Euro Amt	USD Amt	# of Days	Team USD	
Sailors Entry Fee	15	150	\$182		\$2,722.50	
Coaches	2		\$30		\$60.50	
Team Leader	1		\$30		\$30.25	
Charters						
15 Optis and 2 Coach Boats	15				\$14,250.00	
			0404			
Opti Damage Deposits	15		\$121		\$1,815.00	
Coach Boat Damage Deposit	2	100	\$121		\$242.00	
Coach Expenses						
Fees	2		\$500	ę	\$9,000.00	(includes 2 travel days at 50% fees)
Airfare	2		\$1,500		\$3,000.00	
Allowance for Incidentals	2		30	(\$540.00	
Accomodation (rooms)	2	150	181.5	9	\$3,267.00	
Rental Car	1	500	605		\$605.00	
Background Check	2		150		\$300.00	
Miscelleaneous						
	2		# 0.5	,	Q4E0.00	
Coach Boat Fuel	2		\$25		· ·	
Wire Fees	1		\$140		\$140.00	
Coach Boat Flag Deposits (in cash)	2	20	\$24		\$48.40	
Currency Exchange	1		\$100		\$100.00	
Uniforms	18		\$150		\$2,700.00	
International Travel Fund	15		\$100		\$1,500.00	
Extra/Contingency	15		\$500		\$7,500.00	
Snacks/Water	17		\$100		\$1,700.00	
Subtotal					\$49,970.65	
Clubspot Fees	15		\$10		\$150.00	
Clubspot Waivers	15		1		\$15.00	
Credit Card Processing Fee	3.50%				\$1,748.97	
Total					\$51,884.62	
Per Sailor					\$3,458.97	
i di dalloi						
			Estimated Re	egistration Fee	\$3,500	